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f(x, y) =







xy

x2 + y2
(x, y) 6= (0, 0)

0 (x, y) = (0, 0)�������
2.1 ����������� ��!�" #%$�& '�(�)�#�*�+�,�- .0/213����!�"�4 5�6 7�����+�8%9�:

��� z = f(x, y) � (a, b) !3"�#;$3&<'>=?#A@?��B lim
(x,y)→(a,b)

f(x, y) = f(a, b) �3CED�FG53*%(H 13.�I%�3JEK (a, b) = (0, 0) f(0, 0) = 0 )���( lim
(x,y)→(0,0)

f(x, y) = 0 �3C�D�FEL%M3�<�%!3"�#
$3&�'%!�)ON?/�F2.;P3��Q%R B3S�(3F�(�!�TUNV�%W 1%:�@?!�X>@YB�)�Z3)�#%��(3&�'%( B�[\N?/�-] .�6�7%�3�;B3^�_%! H 1��E` $3aEb�F�LGM3#�#%c<4�(3F�.�S%d<M x !��3F%536E7%�3�G�3���%!
"%4�53e;B lim

h→0

f(h, 0) − f(0, 0)

h
+�a<b�FEL%M�f<$3gG/3Fh. y !�� H $%ikj3l%!<(�mE/3F2.>P3�

�3��B3���%!3"�#%$36�n�o�p�q%r��3&�'%(�)3#�S%!�)�`�$3#%/3F2.
�����3�

2.2 s�t%u3v 2.1 ���3�%B3���%(3w�n�o�p�q%(�)3#�*%+3,�-�.
^�_ 2.9 ! H 1���`�$ ε(h, k) +3a�b H?x X3LG� h → 0, k → 0 = H 1%=km 0 !�y<z�F�L%M3w<n

o�p�q%( x;H ) 43L�M�X\@?(�)�#�.{S%d�M k = 0 = H $�Q%R�+3T�` 13J�K>= x h = k = H $�Q%R +
T%`�13J�K%+3|�} H $3~%$%�3r%�?#�.
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2.3 �%���3�%�36�7%�3�%+38%9%:?.
(1) z = x3 − 3xy + y3 (2) z = (x3 + y4)100

(3) z =
x − y

2x + 3y
(4) z =

√

x2 + y2

(5) eax2+by2

(6) z = x arctan
x

y

(7) z = xy sin(x2 + y2) (8) z = x2y2 log(x3 + y3)

(9) z = xy arcsin
x2 − y2

x2 + y2
(10)z = xxyyxyyx

P���u3v�B3���%�����%B�)3#%( H�� @�.26�n�o%��u3v%!��%d�5 �%i H L%/3- ] � xh���%� ! B 1� ���3�%�3n�o%��u3v%(3F2.>P3��u3v%��(�m�)3#��%B 1
� �%�3�%�3n�o%+���t H $��%�?#�.


